


Polaris Sportsman 550/850 Touring (P/N 7274F) Skid Plate Hardware List

Frame Skids (P/N 739T, 739M)
10) 1 1/4" Clamps
10) 8 x 20mm Button Head Bolts
  1) 8 x 25mm Button Head Bolt
  1) 6 x 20mm Hex Bolt
  1) 8mm Nylock Nut
12) 8mm std. Flat Washers
 2) 6mm H/D* Flat Washers
 1) 6mm Nylock Nut
 2) 6 x 16mm Flat Head Bolts
 2) 6mm Nut Clips

Floorboard Plates (P/N 739FBA, 739FBB)
 2) #700-06 Nut Plates
 2) 1 1/4" Clamps
 8) 8 x 20mm Button Head Bolts
12) 8mm std. Flat Washers
 4) 8mm Nylock Nuts

Front A-Arm Guards (P/N 727AFA, 727AFB)
4) 1" Clamps
4) 8 x 20mm Button Head Bolts
2) 6 x 20mm Button Head Bolts
4) std. 8mm Washers
2) 6mm H/D* Washers
2) 1/4" Lock Washers

Rear A-Arm Guards (P/N 739ARA, 739ARB)
4) 1" Clamps 
4) 8 x 20mm Button Head Bolts
4) 8 x 50mm Button Head Bolts
4) 8mm H/D* Washers
8) 8mm std. Washers
4) 8mm Nylock Nuts

*H/D washers are the larger ones




